
 International (GBP) Price Book 
Effective: May 13, 2025 

Printed: July 21, 2025

Important Note:
Above parts are 1241 and subsequent, 1240 and prior requires replacements part kit

Description Part Number
List 

Price

MODEL A — 2 1/2" DELUGE VALVE
Socket Flat Head Screw - Need to order 6 95616402 £ 29.03
Socket Head Cap Screw - Need to order 8 95606402 £ 29.03
Rubber Facing 92206402 £ 373.85
Clamping Ring 95306402 £ 472.02
Rubber Seal 93406402 £ 111.67
Cover Bolts - Need to order 8 91106123 £ 5.48

MODEL B — 4" DELUGE VALVE
Cover Gasket 93706404 £ 131.16
Cover Bolts -Need to order 6 91106404 £ 6.61
Seat "O" Ring 95406404 £ 16.55
Clapper Clamping Ring  £ Call
Clapper Rubber Facing 93406404 £ 497.86
Clamping Ring Screws -Need to order 4 95606404 £ 33.50
Drain Plug 98604403 £ 33.50
"E" Ring, Pin Lever - Need to order 2 95316408 £ 72.46
Lever Shaft 96216404 £ 229.83
Lever Shaft Model BX 96216424 £ 164.14
"O" Ring, Push Rod 95406406 £ 26.74
"O" Ring, Push Rod 95406407 £ 26.89
"O" Ring, Push Rod Guide 95406408 £ 46.35
Push Rod Spring 96406406 £ 229.83
Push Rod Cover Gasket 93716406 £ 33.50

+44.1342.316800 
www.reliablesprinkler.com RP-18

Replacement Parts 
Deluge Valves

tel:+44.1342.316800
https://www.reliablesprinkler.com/


 International (GBP) Price Book 
Effective: May 13, 2025 

Printed: July 21, 2025

¹ Contains:
Push Rod Cover, Inlet Orifice

Important Note:
Above parts are 1239 and subsequent, 1239 and prior requires replacements part kit

Description Part Number
List 

Price

MODEL B — 4" DELUGE VALVE
Push Rod Cover Assembly1 71040419 £ 851.59

MODEL B — 6" DELUGE VALVE
Cover Gasket 93706406 £ 144.02
Cover 92106406 £ 851.59
Cover Bolts - Need to order 8 91106406 £ 6.61
Push Rod Cover  £ Call
Seat "O" Ring 95436126 £ 16.68
Clapper Clamping Ring 95306406 £ 249.45
Clapper Shaft 96206406 £ 249.45
Clapper Rubber Facing 93406406 £ 511.11
Clamper Ring Screws - Need to order 4 95606406 £ 39.61
"E" Ring, Pin Lever - Need to order 2 95316407 £ 131.16
Lever Shaft 96216406 £ 249.45
"O" Ring, Push Rod 95406406 £ 26.74
"O" Ring, Push Rod 95406407 £ 26.89
"O" Ring, Push Rod Guide 95406408 £ 46.35
Push Rod Cover Gasket 93716406 £ 33.50
Drain Plug 98604403 £ 33.50
Push Rod Spring 96406406 £ 229.83
Push Rod Cover Assembly1 71040419 £ 851.59

+44.1342.316800 
www.reliablesprinkler.com RP-19

Replacement Parts 
Deluge Valves

tel:+44.1342.316800
https://www.reliablesprinkler.com/


 International (GBP) Price Book 
Effective: May 13, 2025 

Printed: July 21, 2025

Important Note:
Above parts are 1239 and subsequent, 1239 and prior requires replacements part kit

Description Part Number
List 

Price

MODEL DDX — 2", 2-1/2" & 3" DELUGE VALVES
Cover, Pushrod, Assembly 71040416 £ 788.57
Clapper Assembly 71041300 £ 2,620.61
Screw, Hex Cap. 1/2-13 x 1-1/4", ZN PLTD, Grade A 91106123 £ 5.48
Mounting Ring, Machined 91306013 £ 200.55
Seal Assembly 93416003 £ 111.67
Gasket, Access Cover 93706003 £ 121.61
Pushrod, Guide 93916006 £ 112.69
Knob, Reset, Assembly 94356007 £ 127.84
Piston, Machined 95106006 £ 773.54
Diaphragm 95276006 £ 79.34
Clip, Retaining, 3/8" Shaft 95306268 £ 12.73
O-Ring - Need to order 114 95406007 £ 26.89
O-Ring - Need to order 912 95406024 £ 26.89
O-Ring - Need to order 014 95406407 £ 26.89
O-Ring - Need to order 150 95406410 £ 26.89
O-Ring - Need to order 147 95406411 £ 26.89
Screw, Socket Head, 1/4"-20 x 5/8" 95606114 £ 29.16
Screw, Cap. #6-32 x 1/2", SS 95606133 £ 29.16
Seat Machined 96016003 £ 752.42
Pin. Hinge 96206003 £ 106.33
Pin. Lever 96216003 £ 426.44
Spacer, Clapper Pin 96310003 £ 106.33
Spring, Lever 96406003 £ 57.43
Spring, DDX 96406906 £ 63.80
Washer, Lock, # 6, SS 96906112 £ 3.05

+44.1342.316800 
www.reliablesprinkler.com RP-20

Replacement Parts 
Deluge Valves

tel:+44.1342.316800
https://www.reliablesprinkler.com/


 International (GBP) Price Book 
Effective: May 13, 2025 

Printed: July 21, 2025

Description Part Number
List 

Price

DDV REPLACEMENT PARTS
ASSY,DIAPHRAGM,DDV,1 1/2&2 95277620 £ 449.14
ASSY,DIAPHRAGM,DDV,2 1/2&3 95277630 £ 449.14
ASSY,DIAPHRAGM,DDV,4 95277640 £ 898.29
ASSY,DIAPHRAGM,DDV,6 95277660 £ 1,908.85
SCR,HEX,1/2-13X1,ZINC 95606179 £ 5.68
SCR,HEX,5/8-11X1,ZINC 95606182 £ 5.68
SCR,HEX,7/8-9X1-1 1/2,ZINC 95606180 £ 7.58
STUD,7/8-9X3,ZINC 96506604 £ 8.98
NUT,HEX,7/8"-9 94906924 £ 4.55

+44.1342.316800 
www.reliablesprinkler.com RP-21

Replacement Parts 
Deluge Valves

tel:+44.1342.316800
https://www.reliablesprinkler.com/


 International (GBP) Price Book 
Effective: May 13, 2025 

Printed: July 21, 2025

Description Part Number
List 

Price

MODEL DDX — 4", & 6", DELUGE VALVES
Cover, Pushrod, Assembly 71040416 £ 788.57
Seat, 4" 96016004 £ 780.45
Clapper Assy,4" DDX 71041401 £ 3,476.16
Cover, 4" 92116064 £ 667.23
Gasket, Cover, 4" 93706004 £ 121.61
Lever,4" 94506004 £ 132.05
Clapper Assy, 6" DDX 71041601 £ 5,381.43
Cover, 6" 92116066 £ 746.04
Seal Faceplate Subassembly, 6" 93416006 £ 534.80
Gasket, Cover, 6" 93706006 £ 157.51
O-ring - Need to order 014 95406407 £ 26.89
O-ring - Need to order 114 95406007 £ 26.89
O-ring - Need to order 912 95406024 £ 26.89
Hinge Pin, Clapper 96216086 £ 106.33
Piston 95106006 £ 773.54
Pushrod 95506006 £ 522.07
Pushrod Guide 93916006 £ 112.69
Ring, Retaining (2 Assembled to Item No.14) 95306267 £ 11.72
Screw, Hex Cap, Ø ½"-13 x 1-1/2" 95606107 £ 29.16
Screw, Hex Cap, Ø 5/8"-11 x 1-3/4" 91106006 £ 29.16
Spring Lock Washer, #10 96906111 £ 3.05
Screw, C'sunk Cap Head, Ø 3/8"-16 x ¾" 95606127 £ 29.16
Screw, Socket Head, #10-32 x 1" 95606130 £ 29.16
Screw, Socket Head, Ø ¼"-20 x 5/8" 95606114 £ 29.16
Spring, Lever 96406004 £ 57.43
Spring 96406906 £ 63.80
Diaphragm 95276006 £ 79.34
Knob, Reset, Assembly 94356007 £ 127.84

+44.1342.316800 
www.reliablesprinkler.com RP-22

Replacement Parts 
Deluge Valves

tel:+44.1342.316800
https://www.reliablesprinkler.com/


 International (GBP) Price Book 
Effective: May 13, 2025 

Printed: July 21, 2025

Description Part Number
List 

Price

MODEL DDX — 8" DELUGE VALVE
Pushrod Cover Assembly 71040416 £ 788.57
O-Ring - Need to order 256 95406414 £ 26.89
Screw, Hex Cap, 5/8-11x2" 95606110 £ 35.02
Mounting Ring, Machined 91306018 £ 51.07
Clapper, Machined 91916008 £ 3,905.91
Access Cover 92116068 £ 145.92
Seal Assembly 93416008 £ 257.98
Gasket, Access Cover 93706008 £ 157.51
Bumpstop Assembly 93722000 £ 111.55
Pushrod Guide 93916006 £ 112.69
Lever 94506008 £ 943.41
Striker 95006410 £ 928.14
Piston 95106006 £ 773.54
Diaphragm 95276006 £ 79.34
Retaining Clip, 3/4" Shaft 95316408 £ 72.46
O-Ring - Need to order 114 95406007 £ 26.89
O-Ring - Need to order 912 95406024 £ 26.89
O-Ring - Need to order 260 95406407 £ 26.89
O-Ring - Need to order 259 95406413 £ 26.89
Screw, Socket Head, 1/4-20 x 5/8" 95606114 £ 29.16
Screw, Socket Head, #10-32 x 1" 95606130 £ 29.16
Seat, Machined 96016008 £ 902.91
Hinge Pin 96206008 £ 127.59
Lever Pin 96216008 £ 522.58
Clapper Spacer 96310008 £ 127.59
Lever Spring 96406008 £ 68.89
DDX Spring 96406906 £ 63.80
Spring Lock Washer, #10 96906111 £ 3.05
Screw, Socket Cap, Flat Head, 1/2-13 x 3/4" 95606135 £ 26.23
Reset Knob Assembly 94356007 £ 127.84

+44.1342.316800 
www.reliablesprinkler.com RP-23

Replacement Parts 
Deluge Valves

tel:+44.1342.316800
https://www.reliablesprinkler.com/


 International (GBP) Price Book 
Effective: May 13, 2025 

Printed: July 21, 2025

Description Part Number
List 

Price

MODEL DDX — 8" STAINLESS STEEL DELUGE VALVE
Pushrod Cover 92126358 £ 351.07
O-Ring - Need to order 266 95406414 £ 26.89
Screw, Hex Cap, 5/8-11x2" 95606137 £ 35.02
Mounting Ring, Machined 91326018 £ 51.07
Clapper, Machined 91926008 £ 4,221.31
Access Cover 92126069 £ 157.78
Seal Assembly 93416028 £ 276.05
Gasket, Access Cover 93706008 £ 157.51
Bumpstop Assembly 93722000 £ 111.55
DDX:PUSHROD GUIDE 93916006 £ 112.69
LEVER,8" DDX VALVE 6-4,GRADE 5 94506028 £ 1,100.92
Striker 95006411 £ 946.33
Piston 95106006 £ 773.54
Diaphragm 95276006 £ 79.34
Retaining Clip, 3/4" Shaft 95316408 £ 72.46
O-Ring - Need to order 114 95406007 £ 26.89
O-Ring - Need to order 912 95406024 £ 26.89
O-Ring - Need to order 260 95406407 £ 26.89
O-Ring - Need to order 259 95406413 £ 26.89
Screw, Socket Head, 1/4-20 x 5/8" 95606114 £ 29.16
Screw, Socket Head, #10-32 x 1" 95606130 £ 29.16
Seat, Machined 96026008 £ 933.73
Hinge Pin 96206008 £ 127.59
Lever Pin 96216008 £ 522.58
Clapper Spacer 96310008 £ 127.59
Lever Spring 96406008 £ 68.89
DDX Spring 96406906 £ 63.80
Spring Lock Washer, #10 96906111 £ 3.05
Screw, Socket Cap, Flat Head, 1/2-13 x 3/4" 95606135 £ 26.23
Reset Knob Assembly 94356009 £ 159.30

+44.1342.316800 
www.reliablesprinkler.com RP-24

Replacement Parts 
Deluge Valves

tel:+44.1342.316800
https://www.reliablesprinkler.com/


 International (GBP) Price Book 
Effective: May 13, 2025 

Printed: July 21, 2025

Description Part Number
List 

Price

MODEL BX — 4" & 6" EXTERNAL RESET DEVICE
Reset Knob Ext. Reset Del Mod. B 4" & 6" 94356426 £ 137.77
"O" Ring Shaft Ext. Reset 4" & 6" Del 95406425 £ 4.08
"O" Ring Bearing 4" & 6" Del Mod. B Ext. Res.  £ Call
Screw Spring 4" Del Ext. Reset 95606424 £ 7.11
Lever Screw Ext Reset Del Valve 4" & 6" 95606426 £ 46.35
Stud Threaded, BX 4" & 6" Del Ext. Reset  £ Call
Clapper Spring, 4" & 6" Del BX  £ Call

MODEL B — DELUGE VALVE TRIM PARTS
Drip Cup, Support Clip Bolt, Nut & Screw 71010471 £ 288.55
Strainer 3/4" 78650200 £ 274.27
Stop Cock Valve 1/2" 78650300 £ 249.45
Ball Drip Valve 1/2" Mechanical Mod. C 78653100 £ 466.68
Strainer 1/4"  £ Call
Angle Valve 2" 98840100 £ 465.40
Horizontal Check Valve 1/4" 98840143 £ 268.93
Globe Valve 1/2" 98840171 £ 236.08
Horizontal Check Valve 1/2" 98840181 £ 258.24
Globe Valve 1/4" 98840172 £ 229.83
Pressure Switch 98728800 £ 1,080.93
Restrictor Check Valve 98840141 £ 347.61
Air Pressure Gauge 98248000 £ 117.77
Water Pressure Gauge 98248001 £ 110.15
1/4" 3 Way Bronze Gauge Valve - Need to order 2 98840160 £ 196.48
Relief Valve Bronze 1/2"  £ Call
Actuator Diaphragm 92206311 £ 98.81
Actuator Face Plate 95106901 £ 111.67
Actuator Face Plate Assembly 95106911 £ 98.81
1/4" 3 Way Bronze Gauge Valve 98840160 £ 196.48

MODEL A 2 — AUTOMATIC AIR MAINTENANCE DEVICE
Regulator 98681630 £ 616.02
Strainer 1/4" 98727606 £ 190.23
Check Valve 1/4" 96816902 £ 275.69
Globe Valve 3/4" 98840170 £ 268.93
Glove Valve 1/4" - Need to order 2 98840172 £ 229.83
Restriction Nipple 1/4" 98523100 £ 59.21

+44.1342.316800 
www.reliablesprinkler.com RP-25

Replacement Parts 
Deluge Valves

tel:+44.1342.316800
https://www.reliablesprinkler.com/

	Deluge Valves
	Deluge Valves and Trimmings
	External Reset Device
	Air Maintenance Devices


